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I T It ol kvl IR B &Ik
1 %) & | A0l | 81.64 40.82| 1 |#EiR50% MHik50%

2 |FMi AO1 | 78.56 39.28 2 |FiA50% [HIi50%

3 |3kfh AO1 | 78.53 39.265| 3 |ZiR50% MHIR50%

4 |FEME | A02 81.6 40.8| 1 [FEWR50% MHIR50%

5 |HHEE | A02 | 79.26 39.63] 2 |ZEiR50% MHik50%

6 |mEERME | AO2 | 78.56 39.28] 3 |ZEik50% [HI50%

T |\EE A03 | 80.84 40.42| 1 |#ER50% THIR50%

8 |EE# | A03 | 80.06 40.03[ 2 |ZEik50% MHik50%

9 |X|EAHME | A03 | 80.04 40.02| 3 |ZiR50% THR50%

10 |3k AO4 | 78.49 39.245 1 |ZEiL50% THI1X50%

11 |YLJ54 | A04 | 77.69 38.845 2 |ZEiK50% THI1{50%

12 |5k BH AO4 | 76.19 38.095) 3 [ZEWX50% THIR50%

13 [5KJ5K | AO5 | 81.55 40. 775 1 |ZE50% THIR50%

14 |x15H#E | A05 | 80.81 40. 405 2 |ZER50% HHIX50%

15 |Z&=WrgE | A0S | 75.41 37.705 4 |ZEiL50% THIE50% TR
16 [T | A06 | 77.72 38.86] 1 |ZEik50% [Hi50%

17 BR[| AO6 | 76.19 38.095| 2 [Zi50% TH50%

18 [XIFR K | AO6 | 75.36 37.68] 3 |ZER50% THEIR50%

19 [0 AO7 | 84.68 42.34] 1 |&50% THIR50%

20 |ETTA | A07 | 82.34 41171 2 |ZER50% THik50%

21 |ZE A07 | 8l1.61 40.805[ 3 |FEA50% THIK50%

22 |RHEJ | A0S 79. 2 39.6 1 |FEik50% MHiX50%

23 |PRYL | AO8 | 75.46 37.731 2 |EEi50% [HIE50%

24 | AO8 | 74.68 37.34] 3 |ZEKX50% Mik50%

25 [FEIELE | A09 | 81.54 40.77) 1 |FEH50% [HX50%

26 | A09 | 79.27 39.635 2 [ZiX50% THIX50%

27 |[BAFETE | A9 | 79.27 39.635 2 |ZiR50% MHIiR50%

28 |FkfEME | A10 | 77.66 38.83 1 [#EiR50% [H50%

29 |- FFH | A10 | 76.19 38.095| 2 |ZEiK50% THAR50%

30 [RZ%E A10 | 76.12 38.06| 3 |FA50% [HIi50%

31 |=E | Al 79.3 39.65 1 |F50% [HIi50%

32 | EEEM | ALL | 76.17 38.085 2 [ZEiX50% [Hiik50%

33 |k All | 74.68 37.34) 3 |F50% THI50%

3 | TFAx | Al2 67 90.8 56.42 1 |ZE30% HEEMIR40% THIR30%
35 |ZEFfH | AlL2 74 83  55.4| 2 |ZEiX30% FEAEEMR40% THIE30%
36 [ | Al2 78 79 55 3 |ZEIR30% BAEMIR40% MIIk30%
37 |#HKZ | A13 | 83.11 41.555 1 |ZEiR50% MH50%
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38 |1 A13 | 83.11 41.555[ 1 |FEX50% THIK50%
39 Lt | A13 | 81.68 40.84] 3 |FEH50% MHX50%
40 |BRIRIE | Al4 | 76.96 38.48[ 1 |F50% [HI50%
41 |EHE | Al4 | 76.19 38.095| 2 |ZiK50% THR50%
42 |HN Al4 | 75.38 37.69 3 |F50% [HIi50%
43 |EEFfL | A15 | 76.95 38.475 2 |ZEi50% THI1{50%
44 | S Al5 | 76.22 38.11f 4 |ZEiX50% HK50% LR AN
45 | X7 | AL | 74.58 37.29] 5 |Z&iR50% Mik50% 36
46 | Eri Al6 | 75.42 37.71 1 |ER50% THIR50%
47 |EFEfE | Al6 | 74.72 37.36] 2 |ZEX50% 1HiR50%
48 |Hi1&4 | Al6 72. 4 36.2 3 [ZER50% TH50%
49 | Z=fih A17 80. 8 40.4] 1 |ZEiR50% THR50%
50 |G | A1T | 79.29 39.645 2 [ZiX50% THIIA50%
51 |ZEKEE | ALT | 76.96 38.48| 3 [#EiR50% [H50%
52 |ElT | A7 | 76.15 38.075| 4 [ZE50% THI50%
53 |RZEHE | A1T | 76.13 38.065| 5 [ZiX50% THIIA50%
54 | F ¥ A1T | 75.46 37.73 6 |F50% [HIi50%
50 [{IARE | A18 | 82.35 41.175) 1 |ZEiR50% THK50%
56 |47k Mg | A18 | 82.31 41.155 2 |2 50% THik50%
57 |ZHE A18 | 80.78 40.39[ 3 |FEA50% THIE50%
58 |5 A19 | 79.23 39.615 1 [ZiKX50% THI50%
59 |Jkm%8 | A19 | 78.56 39.28] 2 |ZER50% [HiiR50%
60 |ZRAERE | A19 | 77.76 38.88] 3 |ZEWX50% 1HIiR50%
61 [#iE4E | A20 | 80.87 40,435 1 |ZEk50% MHHik50%
62 [#EFWE | A20 | 79.26 39.63 2 |F50% [HI50%
63 |54 | A20 | 79.23 39.615 3 |Zik50% MHiR50%
64 L& | A21 | 73.98 36.99 1 |F50% [HIi50%
65 [FMIREE | A21 | 73.82 36.91| 2 |ZiX50% Mik50%
66 |PMBEMF | A21 | 73.14 36.57] 3 |ZEiR50% [HIR50%
67 |ARkE | A22 | 78.44 39.22| 1 [#EiR50% [HR50%
68 [ leuh | A22 | 76.21 38.105 2 |ZEi50% THI{50%
69 |55k A22 | 75.42 37.711 3 |&E50% [HI50%
70 [5KETME | A23 | 74.55 37.275 1 |ZiR50% MHIR50%
71 |EEzehk | A23 | 73.87 36.935| 2 |ZiR50% THiR50%
72 |ZEF A23 | 73.17 36.585 3 |ZEi50% THI1{50%
73 [EHEHER | A24 80 40 1 |ZEk50% Tiia50%
T4 |R=FE W | A24 | 78.52 39.261 2 |FA50% [HI50%
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75 |Fiti ML A24 | 178.49 39.245 3 |ZEi50% THI1E{50%
76 |MREWE | A25 | 73.84 36.92 1 [#EiR50% [HR50%
77 AR | A25 | 72.45 36.225 2 |ZiR50% MHIIR50%
78 Mt | A25 | 70.77 35.385 3 |ZEik50% Mik50%
79 |ZENT | A26 77.8 38.9] 1 |ZEik50% MHiX50%
80 |FAKE | A26 | 74.65 37.325 2 |ZiR50% MHEIiR50%
81 |EHEM | A26 | 73.81 36.905 3 |ZEi50% TH{50%
82 | TRy | A27 | 70.04 36.02[ 1 |ZEiX50% MHK50%
83 [ikEHMk | A27 | 65.46 32.73 2 [#ER50% [H50%
84 [ 7R A27 | 63.21 31.605 3 [Z50% TH50%
85 |AzEHp | A28 | 75.39 37.695 1 |ZEiX50% THIX50%
86 |EJEH | A28 68. 4 34.2 2 |ZEW50% MIR50%
87 |FEME | A28 | 66.23 33.115 3 [ZE50% TH50%
88 |milid | A29 | 73.92 36.96] 1 |ZEiR50% [HIR50%
89 |ZiHIR | A29 | 73.81 36.905 2 [ZE50% TH50%
90 |1k A29 | 70.81 35.405 3 [ZE50% TH50%
91 |FE A30 | 67.07 33.535| 1 |Zik50% THik50%
92 |X|FF | A30 | 65.55 32.775 3 |ZiR50% MHIIR50%
93 %k | A30 | 64.75 32.375| 5 |ZEiK50% THR50%
94 |[BfE5% | A30 | 61.61 30.805 7 |ZEik50% THI150% TR
95 |ZEHESC | A30 | 61.58 30.79] 8 |ZEX50% [HiiR50% AN
96 |HWW A30 | 61.55 30.775] 9 |ZEi50% THI1E{50% SEiEdN
97 |&& 3 | A31 | 70.91 35.455 1 |Zik50% THik50%
98 |EEH | A31 | 68.54 34.27] 2 |ZER50% THIR50%
99 (21X A31 | 65.64 32.82 3 |F50% [HI50%
100 |#77% A32 | 77.81 38.905 1 |ZEi50% THIX50%
101 |fRE#Z | A32 | 76.12 38.06[ 2 |ZEiX50% MHKX50%
102 |VEWRUER | A32 | 73.11 36.555 3 |ZEi50% TH{50%
103 | Z4E A33 77.7 38.85 1 |ZEiX50% THIR50%
104 [VERHER | A33 | 77.66 38.83] 2 |ZEik50% [HI50%
105 | A= | A33 | 73.89 36.945 3 |ZEi50% THI1E{50%
106 | HE A34 | 78.46 39.23] 1 |ZER50% [HiiR50%
107 |5K3%F | A34 | 76.19 38.095 2 [ZEi50% TH50%
108 |ZX{IE5E | A34 | 74.65 37.325 3 [ZEiX50% [HIX50%
109 |#hiE%& | A35 | 78.56 39.28 1 |%A50% [HIi50%
110 |RAEHE | A35 | 75.39 37.695 2 |ZiR50% MHIiR50%
111 |BRIR A35 | 75.35 37.675 3 |ZEi50% TH{50%
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112 (M4 | A36 68.5 34.250 1 |%50% [HI50%
113 |5 %% A36 65.5 32.75 2 |F50% [HI50%
114 |#HE% | A36 | 62.41 31.205) 3 [ZEik50% THIX50%
115 [f# A37 | 67.72 33.86] 1 |ZEik50% MHK50%
116 | | A37 | 66.22 33. 11 2 |ZEWk50% 1HiR50%
117 |BRRERK | A37 | 59.16 29.58 3 |FEik50% MHiik50%
118 |Z%FUN#E | A38 | 68.46 34.23 1 |F50% [HI50%
119 |Fkmeae | A38 | 65.35 32.675| 2 [Z50% TH50%
120 |BEAEAR | A38 | 62.28 3114 3 |ZER50% THIR50%
121 | %= A39 | 66.15 33.075 1 |Zik50% MHiiRk50%
122 [HHT A39 | 64.68 32.34) 2 |FE50% [HI50%
123 |XS4aWH | A39 | 51.58 25.79[ 3 |FEA50% [HIE50%
124 |5kZF=M | A40 | 76.22 38. 11| 1 |%&ik50% Mik50%
125 | ERNEHE | A40 | 75.43 37.715] 2 |ZK50% THAR50%
126 |iEfe A40 | 73.85 36.925 3 [ZEk50% THI1X50%
127 |frfis A41 | 83.88 41.94[ 1 |FE50% THIE50%
128 |=7 0 | A41 | 80.03 40.015] 2 |ZEi50% [Hi50%
129 | E3C4n | A4l | 79.23 39.615 3 [ZEik50% THIX50%
130 |Vr4ERE | A42 | 60.83 30.415] 1 [ZX50% [HiiX50%
131 | X A43 | 78.54 39.27| 1 |ZEiR50% MHik50%
132 |EREM | A43 | 76.15 38.075| 2 [ZEik50% THI50%
133 |5k A43 | 74.68 37.34] 3 |ZEWR50% 1HiR50%
134 (2230 | A44 | 78.52 39.261 1 |FA50% [HI50%
135 |5k A44 | 75.49 37.745 2 [ZE50% THI50%
136 [YL¥54R | A44 | 73.89 36.945 3 [ZE50% TH50%




